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MATHEmATICS

1. Answer all the questions. by fhml'“l‘dh Pep-1

1. Wrile question number, correct opiliay ,

3. Pioth gwesiion eneviss | meark " perrespaading anawer

A= I? 3].Ihgnill:|-|’l.-
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. At

L o e (3) 37

7 0 I 4 :
IfA= [ ]:-nd ﬂ-L ] then [adj { &fy

| 5 0 e
{1y <40 3y -80 1) 60
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(17 2 14 3 19

If @ (A) = p([A | B]) tven the system AX = B O lnear cqualigiith
{1y Consistemi and has a unique solution

{2 Consistent
(3] consistent and kas infimitely enany solutsan

{4} lmsoncsispent
i 2! is purely imaginary, then 7| is

240
(n 2 ! (3) 2
Ifl 7 - E' = 2, then the beast value of 7] is
I
{1 (2 33
If @ amd [} are the rocts of &* + x 4 | = 0, then o™% & e i
(1 -2 @ - (3 1
If e, 3, and y, are the zeros x' = pat + g +4, thes I — is
m-1 g RN nli
[ r i
The sumber of real numbers in [0,27] saiesfying sia'r - 2 sinf v+ | is
1y 2 1} 4 3l
If z lies im TV quadrant the -2 lies in
i1} |guandemant (1) 10 qusdrant i} Il guadran

PART - 11
1. Answer any 4 questions. 2. Each question carriés 1 marks.
3. Question number 16 5 compulsory.

L. Fimd z", ifz=(2+ Jip{1-iL

FIRST MID TERy TEST - 2022 - 23
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I%Tan, Marks: a5
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13 Find the mnk of ihe mateix 2 -5 1 4
1 2 3 -2

14. Sodve the equation 3x' - 1627 + 235 . § = 0 i the procict af g P roods s 1,
I5. Solve the equation : x'- 145"+ 45 = ;

IE. !'-ir"’ lht l:l:l'ld'lil:lﬂ Dn‘.hl.}d € =n Ihl]l hfmh“iﬁss'!l'llmﬂ'linmpqu."-m! I|Hﬂr|-i|'F rrm".r
solulions. x +#y+2=n, 5+ 2y 4 Jpep Ix =S+ "¢

IFART = 11
. Amywerany four guestions. 2. Faeh qiﬂdhll Carries ) marks, AX )=
3. Questien number 21 Is compulsory.

17. A= [' "’]miﬁ.-ﬂqmmjm-:-djnjﬁ"ihlrr
5 3

18, Tewt for consilency and if possible, solve the follWitg sysiems of equations by mnk meshod,
IRy vES) Gx-JF IR =6 dx -y + Jp=d.

19, Find the square root of 6-Ei

20, Solve the equation Tx' - 4327 = £3x- 7,

21. Find a polynomizl egustion of minimum depree withmtional coellicienis having 2i + J az n rooi.

¥}, Show that |3z - § + i| = 4 reprevents a ericle, and . fisd it cenire and rdiss,

PAKRT - 1y
1. Amvwer All ihe guestions. 2. ﬁ.rh‘qur!lhl'l eurricn 5 mnarks 3X%&= 18
23, [(m) E-él\t:l-:"-]i:l."*-ﬁ-h’*]ﬁ:l'ﬁ'ﬂ' ;
[E} ;

(b} Salve the equation {x=2) {x-TH (=10 (x#2) * 190,

! % i
. (a) |r::m-:+_lmdzm.|1~-f4_.'sllu'-'r bRt (] — r;lrul-m:[u-u:l-rii]:.;.- == 2i sinfu + 1)
! ¥ ¥y = 0 |

()
(&) Lf:-nq-mmmplmumhmuﬂnhmh{*‘ '} 0, show that the locus of 2 is 2604 2y tndy= 0,

25, [u] By using Gaussian elimination method, balnce ihe chemical reaction equathan ; CH 40, - COH O
- ()

{b) Salvethe systems of linear equations by Cramer's rale ; JxeByerall, It 2e=9, dat ys Q=15
| CHMY Mai i3
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15.| Sol:
xH —lux®+ 45 =0

Let \f =x2

v- Ilky + ks =0
-2 ty- =0
V=9 (e . Y=

X

-8

X% = 9 =
X = Uﬁ X :_'\l 5

a2 R T

e e S S R
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Let- \/‘ = x <

v lky + ks =o0
QP =) =0

V=9 AP ) e

R e Y e &
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e

- SO e =
lo. (Sot:

X+Y+Z = a
X+24+2z = b
, 3x+57+77_ 2

] I 1 1w QN

?& :
(A=) . .M
2 sSgmy o2

Ro —> Ro —Ky

o~ ©o 1 2 b-a
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c = a4+ Rb -
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EA/ & = A

L —= =2

& = | ! 2
&) & ©

Rg —> 123-—9—R1

The above mateix T v echelon form

P CA/B) = -PCA-) =
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con 218te Nt Clnd_
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=2 —] ] X 21
o © o 1= |o
O o o O
2.0 -"\]/ < B =)
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x = 1t (2+8-t)
2
==
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Sol:
| (X=2D Cx-—1> Cx-2) Ck+2) = o
‘(X'—2-> C(x-~2) CX-7) Cx4+2) =

G -owie) LR -1 = &

pret-

2
X*—5x =Y

Y+6) ty—1wd) = o

y:—g (%) y = t 4
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